EARAROBEEIERT — 2 N— IBISH —F

20125 7H268 (k) 5EI1IIE3H

mﬂﬁ%—ﬂﬁ cC1= (xwlw | mEmml - v ) w8
[x&<£] 1% :1,200,000 @ ~ 23%&:360,000  ~ 337%&:216,000 @ ~ 4 3&:144,000  ~ 5 7 :120,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = KEFESE : —0-1- - NIg— N
N EEEYVAATL o4 | KER 1.(3_5).6 2-2-1-1 | 39.8 6 <4+713; %&UE% ()
X/ Ny THY BN aud— P Tie]
ol5lg| 7 KN ZE—IL # 7 g’g_ﬂgﬁﬁ 1:(326).0 4-3-5-4 |39.9| — | 4 | 465 fgiﬁ%&% (11e8)
R:v>TRE=I B:oqx¥2y (-3) 24 N1 B
3 o4 | BEBA 1:36.0 6-6-4-4 |39.8| — 3 494 | fEEEREZ (J1106)
3 W 10 TYFI 56.0 (7€) (-4) HEF
L:vn7x BT7ATARE FES
\ N . LB :36. —4-3- . - ig=E (1)
alzlio| v TF vz 4 3 el 173%1 3-4-3-2 | 40.2 2 (5_015) Fﬁ}llgﬁ
LTV aTF15—FT14>9 B:HLF—<ALF1 RO%%
- fHaAEsE :36. —7-7- . — EZE (J11E)
5 3| 7548H o7 e 1 (316) 3 7-7-7-6 | 39.7 1 (4_728) el
L:TANVRTyYa B4 —-2TFL—FK mN77— L4
3 ;= - RBEX :36. —-12-11- . — LAz (Il
6157 J—TFITFy R 4 5 Eaid 1(326)7 12-12-11-101 39.1 7 (4_(;3) SO Ol
R:TFvI8%I—F B:ELIY2I R Rt
o . LRSS : —~5-6— - ERE (KH#H)
N RIS T w e | B S| e ] | e B
L7274 B:YrivyT—%y R BORM S
.« e LS : -9-9- — \IS—BB (i##0)
slglis| 7 TT7F 8- i 4 N 1(73?:) 10-9-9-8 | 40.1 10 (4:359) %\ME%
R:T7PNTSY BUTIFN— J =% Ty — I
- — - ERAH :37. -14-14- . - EBER (AaE)
9 6| FIILF ey o8 = (11 317/20) 14-14-14-12| 39.1 11 (4_433; SO (et
L:FAITLFNTF— B:IRKLA =7 71 I LIRSS
S, [© LW ER+ :37. -1-1- . — AEHF— (&)
10 AESITTE H o4 o 1(317)2 1-1-1-3 | 41.5 8 (4_717) nez
R:TUHA IR B h—KI TR b BNT S H 78S
. HE: . ~11-10~ _ % 3
1 9| TIV=T7147 #o3 | B IS | 1-r109 | 407 9 | 475 w;lﬁi (1)
R:ALTPAT7 BRI Ty b (-6) E HE
S N BEAS : -8-7- - BEHK (&)
12 0| 370U TZ o4 i (17.3;% 8-8-7-10 | 41.3 14 ;1_334) el
R:x>770-UF72 B:YNIRLAT YT % e ]
s # 5 | BREZ 1:38.5 13-13-11-14| 41.0 | — 12 | 502 | AAIZ (1)
13/8|14| b—=3=70>2 6.0 @) o) | demA—g8
LA RINTYT BVELZA— b 114508
4 | FHEfE— 1:38. -10-11-12 | 41.2| — 1 4 JIASRE (GAFn)
111|177 FETF Rk am | TS |
QXX pE—HFT—IE B:ATYITIL <~ — 7 U His
® 1—F—@EBIERL
1T=7r= 4,5,12,8,11,10,3,2,1,13,9,7,14,6
2a=5F= 4,5,8,12,11,10,3,2,13,1,9,7,14,6
Ja=5= (4,5),12,10,8,11,(2,3),13,9, (1,7,14) ,6
43—7+— |5,12,4,(8,10),3,11,13,9,(2,7),(1,6),14
[ /N
B 5 1,840 714K 5-8 1,990 e E 4-5 3,170M JEE 5-8-10 9,740/
B B 5 310H 5-10 1,100H e B 4-5 7,260M 3EE 5-8-10 88,460
8 220M 8-10 790M B & 5-8 6,970M
10 170 B H 5-8 16,290M

ABICOVWTRDTEEERROODE. TR LIV,




